LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
XE E=Eil E=Eeil LiEERER 66,000 11,300 3578
1l B ZHEI LiEERER 150,450 14,000 3,926
IR E=Eil #ERI LiEERER 92,700 2,270 4,835
P3| B P3| LiEERER 15,300 1,200 1,005
S E=tiil ZF) LiEERER 47,100 5,000 1,726
E LR E=Eial] MER I LiEERER 82,300 3,700 623
EER Xig) ESAll LiEERER 107,700 10,000 2,279
B/ T =11 EE) LiEERER 39,800 4,000 571
T8 R T8 LiEERER 112,000 24,000 8,344
EXiEi #EFBI #EFBI LiEERER 18,000 3,500 1,048
.y Pl Wikl LEERRES 31,500 14,300 12,804
ALE)I +Bs) AL LiEERER 54,000 12,000 1,255
EE E=Eidl] ZHI LiEERER 108,000 23,000 7,828
B E=Eidl] BRI LiEERER 93,000 14,000 2,596
BE Bl FARY]I LiEERER 23,300 1,500 415
AagS a—s80 E=Eidl] BRI LiEERER 427,000 60,000 9,970
HUIL Xig ) H LI LEERRREE 57,200 7,000 0
m+rHE EAS]] e £l i FEER 47,100 11,600 11,365
Hi#E EAS]] BrAI i FEER 146,500 26,400 3,090
mH E[A S]] nE) i FEER 114,160 20,450 10,795
BF EAS]] IE i FEER 50,000 15,000 8,448
AT EAS]] FEEREI i FEER 65,000 20,000 8,502
B ZEUII E-2=1ll] it HFEER 45,300 6,000 4415
Bl (EE) FLI BEFHAI it HEED 50,000 9,000 2,717
EaiL S ESpi]l] LA EER 109,000 11,000 4,738
EEA E=E 3l EEA LA EES 53,100 10,000 2,569
E)II(EEE) I EJIl LA EER 254,000 25,000 4,450
tyE FAT BRI Balll it HFEED 109,000 9,500 1,795
=5 (DI Kzl LA EER 42,800 6,800 836
Al Pl bl it HEED 65,000 7,000 1,667
L BT Z BRI L it EED 153,000 5,000 1,372
RH S BB LA EED 51,000 3,000 18
Fa k&K1 X LA EED 78,100 10,000 326
REIR EA ] RERJI i EED 143,000 11,000 1,161
8B EARII SR i HFEED 140,900 13,700 3,729
BRIR FIAR) FIAR) EES VL1 00) 52,490 8,020 1,913
R FIAR) FE EEX V-1 00) 25,000 2,550 1,913
ER FIARJ A&l RS ERER 20,310 6,170 3,809
"At+E FIAR) BEN BRMAEER 55,000 9,000 3,915
JIg FIAR) BRI BRMAEER 87,600 14,500 5,946
S FAR) BRI EEX P10 83,000 7,000 7,502
HZEalll FAR) el ES W1 00) 75,000 3,000 517
—# FEll bl EEX P15 26,900 5,100 5,381
=S AR i R AR 193,000 10,000 5,145
N\vi5 FUFRII EZ ES VA1 0] 107,500 17,500 2,995
XE Fll KA JbREM S B iE R 22,800 5,000 1,649
FEUII FEUI FEUI JbREM S B iE S 231,000 20,000 8,094
pN] BRI IR A JE A EED 34,011 5,000 1,129
K (EEE) [DE (Rl JbREM S B iE S 57,500 13,000 5,898
=EN BRI =B JbREM S B iE S 27,500 7,700 1,806
F&=A 281 251 JbREM S B iE S 24,700 12,000 8,108
& Fll @l JLREM S B iE S 24,600 5,500 787
EZil] Pl =gl T A EER 29,952 6,586 10,773
N Pl INEN FEH A BER 58,000 20,000 23,015
IR Pl KA FEH A EER 53,500 5,900 2,311
E1E KRNI EEN FEH A EER 80,000 15,000 15,101
Fanin] AEN BN PR S B w5 79,520 7,800 38,058
A RE EE hER S BB 40,000 10,000 7,887
& i) I hER i 5 B iwE 32,600 3,200 2,108
= il R T A BIER 78,000 10,000 4,654
INEJI FERII INEJI| T A BIER 15,100 2,200 179
Kr#E I ) EEHFEES 26,280 6,000 5,063
NEEE NEEE NEEEI EEHFEES 353,000 11,780 5,132
EEA NEEE R EEHHEES 115,000 20,000 2514
=a = REEF I EEHHEES 23,300 6,000 4,235
XiE 2Dl 2Dl EEHHEES 84,000 8,000 5,256
EiR BEII ENg Il T EAEER 19,800 2,600 929
] IR I T EAEER 47,300 6,200 2,523
il R il T EAEER 20,600 1,000 339
[ES NG INEE T EAEER 112,000 6,000 3,544
J\AE Ell ER P E#S B 60,000 3,000 648
B A I T EAEER 82,000 3,000 298
=H il il T EAEER 84,100 6,000 0
P32 IR LTI T EAEER 52,100 4,400 344
FER EFI #EJI T EAEER 50,600 4,000 0
ER EFI EFI P E#S B 60,800 6,600 280
B FRI B30 T EMAEER 12,400 1,200 88
B EHHI FEITI] mE A EERD 32,200 2,600 4,687
aFN ESE AFN mE A EERD 12,800 2,200 1,365
[525] BRI B mE A EERD 16,000 3,300 1,065
XiE =i =i mE A EERD 66,000 14,000 4,878
] NI il mE A EERD 12,600 600 127
B BRI B mE A EERD 48,200 12,000 4,791

KEBBIE. FHREERETORFOAEHRCE IO,




LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)

&0 B AHE) mE# S EEE 54,278 19,278 16,577
& BN i mE# S EEE 7,300 300 0
£H JIAII JIAJ AW AEES 123,000 25,000 10,158
) & #)1 AWM AEES 46,000 10,800 9,234
TE Hig) T NN EEE 59,300 7,000 4919
AR Hig) g NN EfEE 54,600 7,500 4,302
BREZ WE) LLFs) A A EES 23,300 2,300 853
[&S HAR A NN EEE 13,600 1,000 369
= (EE) EaRiu]] B NS EEE 42,500 1,000 412
=5 =5 =5 NN EEE 71,000 3,000 265
[AASEY A7) t# NN EEE 24,000 1,600 505
&t &)l &)1 HMRREEER 55,000 3,000 287
Ell Rl Ealll] MRREEER 1,650 400 0
=) TR TR HMRREEEE 18,600 1,200 0
EA £l BRI MRREEER 3,050 500 0
LHE BEHE BHE HBREEER 4,500 500 0
E; EArfEi)I EHEM)I HRREEEE 8,200 400 189
Fiih iR PRk PNl HBREEER 19,800 600 0
AR AR KR MRREEER 20,050 700 0
2K EE) B HBREEER 8,560 700 0
ERR FIAR)I FIAR) KEREE 204,300 14,700 5,093
TAR FIAR)I FL Bl KEREE 130,000 10,000 11,234
X FIIRII BRI KE RS 60,500 10,000 5512
ZRE FIAR) BRI KE RS 90,000 5,000 1,497
=B AE) R K& RS 173,500 13,800 2,802
(BRI AE) [RENTI] K& RS 48,000 4,000 1,275
LRI | R BN KE RS 61,000 6,000 1,640
EE3 )| Frelll K& RS 16,900 2,600 1,037
HiEF )| HFiEF KE RS 27,200 3,400 2,167
= )| £k KE RS 56,800 7,600 5,739
—& ] —EXRBRI_|KEFREE 33,300 2,500 1,003
fid=] ] =111 KEBRHE 17,300 1,900 687
BE )| )11 KEBRHE 66,000 8,000 2,570
SHE S =l KER#EE 12,650 — 2,772
LR =l =l KE RS 316,000 17,000 18,279
= HEHI AL KE RS 13,000 900 771
FRN gl = KE RS 18,000 2,000 2,184
S il S KE RS 58,000 2,000 1,304
FEZA I &R KE RS 20,800 2,400 1,232
=8 =l SR KE RS 52,000 4,400 1,246
&R Fll i KE RS 63,000 5,000 2,254
&l RS EE KE RS 660,000 26,000 2,439
PNt Bl KA KE RS 19,600 1,600 176
NEIRI Higl NERII KE RS 40,000 900 0
HH BRI R b EE R 2,440 600 574
B BRI BRI dEEENRE 6,200 2,200 893
El %3al #iall LB 3,800 1,300 323
E3E] EEaall ESEN dEEENRE 1,500 410 97
23 ARl SRl dEEENRE 9,500 1,500 1,086
Bl BRI 2RI LB 229,000 12,300 3,970
&% T+ BRI dEEERE 10,400 2,400 431
FhE EX=] X dEEERE 3,340 520 175
INE INEZEI INEZEI| b E AR 33,200 5,600 5,303
B EEaall Ao ToAY)I | LiEEESE 3,200 500 163
HE EEN EEN dEEENRE 8,800 1,100 141
SHA [REI mE A JbiEE AR 5,630 720 275
t/E XEI EE] biEEESE 3,730 620 81
FRER RERRI FRERIN dEEERE 36,500 6,000 1,434
7 Kig )l ANRII JbiEE AR 844 180 9
EE EsEedll EEN dbiEE R AR 74,500 8,000 828
[ EsEedlll mE b E R AR 36,000 2,600 221
Ei% EE) E& b E AR 47,400 4,300 0
=E EARI I EHFE R EEL 1,420 300 118
tREE EARI BRES)I EHFE R EEL 2,380 350 264
T 21 )il EHFE R EEL 12,600 1,600 592
VA Avalll Nal EHFE R EEL 400 60 20

= EARI NI EHFE R EEL 6,730 660 258
A JUAII ] EHFE R EEL 16,500 2,000 456
ER XA X0 EHFE R EEL 300 130 16
i A FwHA EHREE T RED 36,500 3,400 1,175
=% ekl KR EFEE T EE 1,030 110 133
A ER E[A ] | EFEER T EE 15,000 1,700 269
AL E[A S]] ER EFEER T EE 15,400 1,500 1,379
EEFR) Az R EFEE T EE 7,600 1,600 619
ElG] BF)I| NI EFEE T EE 5,700 700 52
Bihig E[A ] HE EFEER T EE 17,250 1,500 182
EET #=E) ZEN EFEER T EE 486 41 4
3 Bl £ EFEETEHER 9,680 680 44
mHE— E[AS kA EFRETEHER 248 27 10
TE Je Bl 8Jll ERELTARE 36,600 4,600 4,062
&R e || el =EHET A 18,000 2,000 1,736
&l [EE A &l ERELTARE 10,000 800 261
PN A EII X&) ERELTRE 28,000 3,000 1,423

KEBBIE. FHREERETORFOAEHRCE IO,




LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
#8K 25l ) ERE L KRE 4,700 500 208
titHA R =01 Rz A=) =R+ KSR 9,200 700 361
E%xig E[ S]] & =R £ RS 3,020 140 33
SRR E[A S]] Y]] =R+ AER 13,214 620 147
=K 5% =R =R £ KSR 5,400 400 207
FADYE B PES] =R £ RER 1,100 110 44
EXR E[A]] LERRI EHETKRE 410 70 6
N:] FlAE]] RIBI =R £ RER 9,720 710 116
1 FERI FERI =R £ RER 950 120 17
RiB eI 8Jll =R £ KSR 31,800 1,200 23
i ) el IR AR 31,600 5,300 4,061
Fich ) EI IR AR 51,000 8,000 5,619
B (RREE) ) HBJI IR AR 5,200 1,000 476
= ) =@l R R R 19,300 3,300 983
RE EW)| =) IR AR 1,598 227 0
HFo KE MR I IR AR 37,200 4,000 1,789
Fd KA INBTAZ )] IR AR 14,950 3,300 2,231
FRRE K HEN I IR AR 42,500 3,000 2,849
2O KE 20O IR AR 6,550 1,500 874
L% K il I IR AR 12,900 2,000 428
0 ) Al N IR RN E 7,800 750 127
A ) NI IR AR 12,150 1,150 192
NG FE Pl IR 724 98 18
BFiR k&K1 BFRII R B 8,650 1,020 52
ARt S BB IR IR I8 + B 8,200 1,800 1,606
BE S BRI IR IR IR + B i 7,300 2,100 896
EiR FLI &)1l W28+ B EE 19,050 2,840 23812
Rilll S Rl IR IR IR + B 4,400 300 31
Bkl &L Bkl W IR 8+ B EE 5,300 700 18
FeiR I Pl W IR 8+ B EE 41,420 5375 5,201
ZEA R A3l W IR 8+ B EE 1,780 110 138
2l Bl 2l IR IR IB + B i 5,700 1,300 433
= &L 1)1 W IR 8+ B EE 7,400 1,600 342
AR S AR IR IR I8 + B 9,100 1,200 373
HARI &L HAI W IR 8+ B EE 9,550 1,250 158
| =L 2L W28+ B EE 1,120 120 5
&= L/NE =L =LE/NE W28+ B EE 2,300 200 40
[=ES &I I =EEE T KA 12,700 4,100 5,008
o EF Flll PaEE | EERL K 12,100 2,000 1,346
L) EE EC EERL K 36,200 1,400 500
INE ZHI INE EEEL K 13,930 1,700 179
E f 2 53 )| Bl EEEL KR 12,500 1,000 286
B f 2 53 )| LI EEEL KR 24,600 1,500 288
HE FAI % 7)1 = EEETARER 523 72 23
&I (DN I EEEL KR 5,500 300 193
ZFb S EEA EEETARER 772 120 37
XE AEJI AEII EEETARER 18,470 5,700 734
sl BRI sl RIFE L KR 4,462 250 214
EXid A B RIFE L KER 3,000 300 210
tRHA BRI SRE)I RIFE L KR 2,440 200 39
KB Ade) TEEI RIFPE L KER 2,230 500 306
tE B LB RIFPE L KER 2,880 880 437
+x +EII +E RIFPE L KER 2,860 760 196
N P (A1 Al RIFE L KER 16,600 1,600 245
il I il HARRE T EHE 4,300 800 571
BR BRI =) HARE + BEE 8,760 3,000 1,818
FIU BRE )11 =1 AR R+ &iE 2,555 400 91
ESiall FREI| bl HARE + BEE 6,100 770 424
PN FIFRII PN AR R + &iEH 1,900 100 19
=R FAR)I =aLRII AR E + &iEH 899 70 75
a1 FIAR) gl MBS B EE 2,500 400 421
RN FIFRII [EES] MBS B EE 12,200 900 408
A FIAR) RESKIII MBS B EE 778 278 269
B FIAR) B MBS B EE 5,100 200 300
BiR FIAR) BRI MBS B EE 303 23 30
mA)ll FIFRII mAll MBS B EE 9,200 600 120
X—H FIAR) =] MBS B EE 437 154 59
HHE Fl HREI HE R R+ E{E 7,600 350 390
HERE R FIAR) R HE R R+ E{E 4,113 411 108
& Fl A BE R R+ E{EE 10,250 1,000 585
21l IME /MBI FEEB T EEE 14,750 1,400 2,140
s #2) =2 FEEB T EEE 14,300 1,800 3,057
EEN A =F FEEB T EEE 1,720 120 25
AE IMEN &l FEEB T EEE 8,410 1,870 1,073
il AR I #HEIEBTEES 62,300 7,600 3213
= BB AR #HEJIEBTEES 64,900 10,400 11,252
RHE =L Bl WEIR S + B R 14,300 2,950 1,589
Al =1 il WFIE 1B + B pdn 10,800 2,200 708
AP =1 PNl WFIE 1B + B pdn 3,600 1,250 228
EA] =1 EA] WFIE 1B + B pdn 11,500 2,600 594
3 AR BEI WFIE 1B + B pdn 6,440 1,300 329
]| =1 )| WFIE 1B + R dn 5,150 400 34
PUEA:=0 ER PE=E FimE + KER 4,450 300 307

KEBBIE. FHREERETORFOAEHRCE IO,



LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
T 510 I HRELKRE 1,530 430 321
BRI B BRI g g+ KRER 15,800 2,500 1,324
3 Eirl FiE) FiBE T K 17,200 2,100 2,377
Bl FaI 2 7)1 Bl FRELKRE 14,900 3,400 1,764
=m| =mll =mll #Fin g+ KRER 47,800 6,300 6,709
ADE g HNE #FinE + KRER 24,800 2,600 1,161
A IIAK g b #in g+ KRER 22,500 4,500 2,143
R BRI BHE) #in g+ KRER 6,000 900 1,652
BRI BRI BRI #inE + KRER 17,100 5,100 2,421
KEI EFF)I KEII #in g+ KRER 1,390 300 120
#HiR) EFF)I iR #FinE + KRER 500 93 21
FEF BaJII EEFII #in g+ KRER 4,600 600 341
A5 A5 A5 FRELKE 1,669 259 161
B Bl E+EI iR g+ KRER 21,100 4,050 2,988
Bl Bl Bl #FinE + KRER 297 28 22
B=E =@l =@l #in g+ KRER 125,500 17,500 1,867
Al il )1 ) FinE T KE 5,000 900 48
] |51 A #FinE + KRER 12,400 1,700 227
HRER BRI [l FiRE+ KRER 10,000 2,300 0
Bl Hl RHEESE 3,400 700 978
It ') RHEESRE 15,000 5,000 5,521
BARTE ') RHEESRE 5,400 2,100 3,047
=BH ZEHI EHRERE 8,000 1,600 154
EEA FEaalll RHEESE 2,200 400 234
A AR EHRERE 2,000 400 233
g RE I RHEESE 2,580 460 117
IMZBE IMZBEI EHRERE 1,930 320 32
Kith )il RHEESE 523 126 32
[T 1| EHRERE 7,400 2,000 2437
Jaxial 1| EHRERS 1,840 530 540
1l LA EHRERE 1,860 290 170
HiR SR RHEESE 9,500 1,200 188
E 2RI EHRERE 388 111 3
Jeil =1 EHEESE 213 27 4
KE K LRI RHEESE 276 81 23
N BRI I EHRERE 1,100 40 4
=B #e8)1| FHA E IR+ KER 17,000 3,500 3,149
adlll 81 REEFII E IR+ KER 9,100 2,500 666
FEN EI FEN EIWE T KB 2,700 1,350 1,327
FEI I FEI E IR+ KA 3,070 750 421
FHR)I INEER)I FHRI ECEE N 6,600 600 338
i INEERI LE)I = IR+ KER 3,000 600 309
Al Al Al SR+ KRE 1,550 400 181
Ll Ll EhlIl SR+ KA 4,850 1,350 1,171
LTHINEZ Ll el ECEE N 7,800 3,100 2,021
Bl BEl BEll ECEE N 2,200 500 483
R/ T NI SR+ KRE 5,280 1,700 741
Fidhi a1l AEN Fidhi Al EIWE T KA 1,350 350 157
B0 EJI 5 EIWE T KA 59,900 3,800 1,689
A EX A A& ECEE N 325 125 0
ARA) 581 ARA) = IR+ KER 10,000 3,100 926
Fitlll NIl Fitlll SR+ KRE 600 240 92
D | B Il IR+ KER 6,000 800 333
Elll B B IR+ KRER 13,600 2,900 1,826
mJil I Al IR+ KRER 9,500 1,400 596
FAI EIl Il BIEEKEB 61 4 5
EH KEF) REFII IR+ KRER 10,100 1,350 1,214
KA FEUI KA BIE (EREB, BHKERR) 27,200 3,000 865
INE #8811 #EER)I BIEEKEB 3,050 350 83
A1l I\~ ALl BIEEKEB 3,130 260 56
PR REF EEall BIEEKEB 24,900 2,500 380
dLiRIA BTEF)I1 AR BIEEKEB 2,860 270 32
=B I Il BIEEKEB 6,000 200 42
[GET"3 AE [GETCN I B 1818+ B {5 i 2,550 500 221
=8 AE EHI I B 1818+ B {5 i 180 20 8
KR AE KR I B 1818 + B {5 i 450 110 21
FEA AE a2l I B 1818 + B {5 i 411 40 5
FEN #8581 FeikIl I B 1818+ B {5 i 6,200 900 16
RE FERXR) FEXII B R EE R 5,100 500 174
HEKER EH Faaalll FohE 12 358 AR AR 295 55 9
AHJI AHI AHJI B 12 308 AR AR 11,600 800 139
[S5IT] KRNI ST ZHEERS 251 29 0
AHE KRNI AR ZHEERS 644 65 4
ErH ZHI ANFERI ZER BT EEL 23,300 3,600 2,538
=1 =l =1 ZER BT EEL 70,500 9,600 5,287
I I I ZER BT EEL 282 52 28
N NEEEI BEFI BHE T KE 11,300 1,700 945
B'E) hEEE 2 BHE T KER 58,806 3,500 3575
BEr & hEEE FrEI BHE T KER 10,200 1,300 948
KEH hEEE) KEFII EHE L ARE 770 140 18
B NEEEI el BHE T KER 25,000 1,900 1,569
HEE hEEE) HrE EHE L ARE 2,160 280 24
KEB ELFI Pz a=1111 BHE T KER 485 55 4

KEBBIE. FHREERETORFOAEHRCE IO,




LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
AR E[A]] AR BHELTKRE 8,000 800 0
B il BEI BB BT KB 1,388 350 167
AA) el AHI BB BT KB 2,710 400 326
FHI )l FEI HEEXRZESR 2,900 300 34
it )| Frim)l BB R T KB 7,300 700 281
bt 1| el i) 1| BB R T KB 7,600 1,100 0
PN 4 BRI A RERT IR AR B AR 28,550 7,230 3,857
)11 AR 1)1l RERRT X 3B ED 2,141 438 55
Hm)l el Hm)l ABR AT HR i f A 2,000 200 86
it R0 AR ABR AT ER i f A 2,800 19 42
Ell HR) SR EEER R T EEE 21,950 2,050 1,004
®E HR) #E) EEER R T EEE 2,950 400 81
EX3) il il EEER R T EEE 18,000 1,000 321
5E3 Sl EEI EER R T EEE 1,950 250 57
AR =R ER P EEER R T EEE 1,300 100 33
XE iz XEAN EER R T EEE 800 100 33
'H HEJ 55 EEER R T EEE 15,100 1,000 0
B (EER) Fi&)l £ EEE R T BER 240 25 1
R=E FiE)l ZE) EEER R T EEE 4,300 200 11
=% BRI P EEER R T EEE 271 37 5
XB =R pN=1 EEER R T EEE 1,100 50 18
L% =R Eaoll EEER R T EEE 2,200 100 26
PN =T KRR EEE R T EEE 375 78 16
AR =R BRI EER R T EEE 4,050 150 71
=t =R EELI EEE R T BER 1,300 50 23
aH# izl SR EESR R T EEE 2,200 200 7
HLFEY gl =8I EEE R T BER 380 40 4
BR Al wa) EEE R T BER 470 30 16
E3] BRI BORII EEE R T BER 383 27 0
5%t Al St EEE R T BER 1,080 160 37
Siith FiEl #E EER R T EEE 4,700 300 32
x#E P ik FREBTIRIANR 2,500 250 292
[IE: RFI il ZREBE+IRTAVMR 4,390 650 333
=] AFI LB | ZSEREBFTIRIAVNE 1,560 200 43
E=Eiall] P P=Eialll FEREBTIRIANR 810 120 23
PNl P NIl FEREBTIRIANER 177 29 4
£l ) HEE)I| IS B+ E 30,800 2,400 1,559
E)11 /Sl E)11 IR R + BEE 3,500 250 95
L EEA I IS B+ E 49,000 9,500 8,606
ZIl FH)I HHJI IS B+ E 30,100 8,000 7,084
PN N LI IR R + BiEE 3,960 550 37
&8I FHRII 1&B NI BHIE R+ EiHi 2,310 430 416
B FHRI EC BHIE R+ EiHi 280 38 14
B BEII SERSSEN BB E+EEE 7,450 760 274
EX] BN FHEA BB E+EEE 720 69 1
R BE)I SRR BRI+ EiHi 1,380 190 26
firk LEFI BRELI SRE K& 7,100 2,100 955
i3 LEFI I3 SRE K& 5,050 600 204
J\F I JAFII BIEE L KER 26,800 3,600 1,038
JEH SEEI SEAI BIEE L KER 4,125 800 6
=H ES=] EJ=N BRE £ KER 539 43 9
1EER S = SHRETKRE 16,800 1,300 267
= Eanll] =R SHRETKE 7,120 720 149
skF NI I SRE K& 2,530 180 73
ARR Al A SRE K& 19,270 500 50
A =) #E)I SRE K& 6,750 250 8
#E =l SR SHRETKE 480 280 32
FEAE EA SEE)I SHRETKE 15,470 1,250 12
IR FBJII JEJII 8 LR £ K ER 99,600 1,750 10,121
JE I (R ) JBJII JBJII A LR + K EB 57,382 5610 33818
5% HBJII Nzl 8L 2+ K ER 1,680 220 65
FIE:S =2 7)1l 8L 2+ K ER 17,350 6,000 3,398
IR SES =l 8L 2+ K ER 4,530 450 138
JAEFN =il J\EF AL 2+ K &R 5,700 1,060 160
0] EZHI SN AL 2+ K &R 5,990 540 130
#BH =2 BDRII FE LB + R &R 470 70 2
FE SES a2 8L 2+ K ER 28,000 1,800 615
(Vg HBJII LE] AL 2+ K &R 498 54 0
== SES == AL 2+ K &R 8,200 500 54
AT TEJII B#)I A LR + K EB 769 88 0
fHER E/l fEERI LEEXXREER 5,040 540 222
[ SEE e LEETKREER 7,540 960 562
a2 Fa2) Fa ) LEEXREER 1,700 500 146
£ I\ NG LEEXXREER 8,460 620 537
7)1 =l )il LEEXXREER 1,650 100 0
=TT} =l WE)I LEEXXREER 700 110 14
RE J\iB)I| REI LEETREER 1,060 130 25
B BE BHEII LEEXREER 10,900 1,100 57
== B Bz LEEXREER 2,710 210 68
FRAI E/l FRAI LEEXREER 560 66 5
ER IO AE LEEXREER 701 63 0
ANE ANE JNER)I EBRETARRER. LORTREER 11,400 1,500 1,098
3] ER &R WOR+REEE 24,600 3,200 1,642

KEBBIE. FHREERETORFOAEHRCE IO,



LEOF LERKRICONT(HH2EEREFR )

¥ 1% KFRE TN EEE rIDkER | ARE R
(Fm3) (Fm3) (Fm3)
B EEalll )11 WO 8+ REFELR 95,000 730 580
E] EEalll E W08+ REFELR 30,800 1,500 498
2501 HF) Bl WO+ REFEL 1,550 100 63
JIIE =/ =/ OB+ REEE 13,720 220 247
ERII ER ER WO 8+ REELR 23,788 746 1,571
SE Al 5E WO 8+ REELR 1,700 300 64
AEJI AEJI AE OBt REELS 21,750 670 329
P #hE Pl OB+ REEE 3,860 450 179
R 11 BT )1 R )1 WO 8+ REELR 153,500 13,000 3,905
— DR R — DRI WO 8+ REELR 1,485 200 44
iRy THEF)I H=E ) OB EREEL 5,200 250 84
EIEN g8l ) OBt REEL 399 42 70
KR ESev]] KR WO 8+ REELR 19,570 800 214
B = BRI WO 8+ REELR 1,550 250 88
il =] il WO 8+ REELR 7,550 450 149
] Pl Pl WO 8+ REELR 125 6 1
P =B st )1 WO 8+ REELR 740 50 0
I Ll i)l OB+ REEE 842 82 3
E/IILEFR HF) 2/ OB+ REEE 450 40 5
=)IA S EESE EEEE T BER 1,350 130 114
EX R 3m )1 [ EE R R T E{EE 15,050 3,150 1,943
[=Eis [Eadll [=Eidll EE R R T EEE 4,750 750 0
) 300 I BB KEB 611 75 135
NG 5/)l BRI BB KA 1,000 96 61
KNEIE) EEI ZR FNE T KE 760 120 119
Al BEEBIII BRERII FIRLKRE 2,130 300 257
Hi5 FHEI I FNE T KE 8,175 200 214
&W I I FNE T KE 4,210 100 512
BB #&NI =D FNE T KE 1,600 150 172
E ] A BITE)I FIE L+ KER 2,500 250 393
RiE FIET U] FNE T KE 1,060 145 0
B f=iE B FNE T KE 690 70 104
Eith THEXII ZHEXII FIRLKRE 780 80 0
TR EEI FRII FIE L+ KER 1,850 160 83
=H = HE)I FIE L+ KER 2,360 260 0
PIA EEI Hatg)il FNE T KE 2,900 120 297
R®H I RHII FNE T KE 590 50 38
[ E 58I &I SRS+ KA 1,590 280 542
2% hniE | hnEE | BEE+ K 36,000 2,000 4,681
EI(EEE) fxalll fxanll] B+ KER 9,900 800 859
EBI il ABI B8+ KER 3,050 120 57
1L B4 E=L DI ERELKRE 6,500 600 0
& EXI B&II FEB+ K 1,790 400 40
JKi#E WER)II WERI SHE T KA 58,800 13,500 17,999
& EA] &l =518+ KER 9,380 1,020 1,254
tHE =i R =518+ KER 8,160 1,700 621
WA I WA SHE T KA 18,150 2,050 352
HAS E=RI AR =518+ KER 136 8 4
LA FI l;i?ﬁ%IJJII DA SHE T KA 352 19 4
Il gl waji 2 2 18+ B {HER 2,980 180 145
[EE =8 el 1= 8 18 1 2 {EEE 2,650 200 135
paE =B AR 1B R 8+ B 13,200 700 621
A a4 &R FEBII 1= 18 18 1 2 {EEE 27,900 2,500 1,607
AR ] ] 1B R 8+ B 18,200 750 248
ESE. E3] E3 1B R 8+ B 13,600 160 142
ape] BRI BRI 1B R 8+ B 6,000 440 551
HntEsF fil il fiki sl &8 18 1 2 {EEE 2,420 150 118
4% #WEN 45 1= 18 18 1 2 {EEE 2,280 180 112
Rig =B PN 1= 8 18 1 2 EE 5,000 150 65
& I W #)I 1= 8 18 1 i 251 20 10
B 2R R BEEI 1= 8 18 1 2 {EEE 5,110 200 60
&k ZRRI [ER] 1= 8 18 1 2 {EEE 4,400 240 118
=228 =B =] 1= 8 18 1 i 2,710 150 26
BRIR Fgl =R A 1= 8 18 1 i 2,950 500 176
FRE k)1l gl 1= 8 18 1 i 28,700 1,200 0
Erp ] FRE)I BRE)I| 1= 8 18 1 2 {EEE 40,200 500 0
Fig ik ASH I ERIEE) EE 818+ EiEE 1,940 280 142
TXKi5 ASH I BTHEII EE 818+ EiEE 1,080 56 59
X N g EE 818+ EiEE 1,140 50 22
£H FHIII =NIN] EE 818+ EiEE 1,880 130 58
EMUEER) FH)I RN EE 818+ EiEE 2,350 130 65
EEJIA B ARJIAI EE 818+ EiEE 2,500 220 59
] EE =l %1218 + B(Eip 27 5 1
& <A A EE 818+ EiEE 1,390 80 39
Hi-B/E HEI wal B/EN B EE +BiER 1,790 100 49
B/ B A EE 818+ EiEE 4,290 340 46
FIIE HFEEN IR EE 818+ EiEE 1,130 20 0
FARRE BB 1l %8512 + R (i 6,800 500 109
HFOI SE HFOJ 28512 + R (i 2,180 150 27
i) BFI B RIBE+ K& 330 28 27
I MR ST RIBE+ K& 834 54 8
)l Ik I RIEE + KB 1,050 70 15
B8 2B)I1 EBJII RIS+ KER 6,810 870 191

KEBBIE. FHREERETORFOAEHRCE IO,




LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
Ej ] Ei) RIBE T K 3,900 680 147
Wi FL ] #iE RBELKRE 6,840 560 313
&L &L =]l RIBE+ K 728 92 38
=H 1ZHJl Gl RIBE T K 2,270 280 180
150 I+%0)1 I+%0)1 RIBE+ K& 618 40 15
B EA]] B RIBE+ K& 2,150 100 76
[FES BT %I RIBE+ K& 1,080 100 18
2k Rl 2R RIBE+ K& 300 25 12
Fl F &) FA2II RIBE+ K& 530 60 21
i 89:8)1 #9381 RIBE+ K& 550 110 12
skH JkE)I JKEJI RIBE+ K& 230 20 4
r5 E5I E5I RIBE+ K& 600 60 14
TEEE SN [l RIBE+ K& 1,090 40 17
BE BEJ BEE RIBE+ K& 1,140 140 61
Mg BEJ BEE RIBE+ K& 2,040 100 76
SR ZLURI ZRg RIBE+ K& 2,250 60 19
BLE BT Al RIBE+ K& 133 11 2
[Am] Ol ol RIFE+KER 269 6 4
BRS ZH)I [z RIFE+KER 5,400 430 88
TE J\ERJI FEN RIBE+ K& 1,580 110 11
ALl =1l 7Ll RIBE+ K& 1,580 110 25
=/]1 =/ =/]1 RIFE+KER 194 11 3
fiaiE AR i FIBE+ KB 370 13 4
= =G =) FIBE+ KB 164 50 1
235 IMEA I eI FIBE+ KB 365 12 4
INE ANE)I BiF)I FIFE+KER 400 30 7
FXA FEARAI IS FIFE+ K& 880 80 4
=5 ST ST FIBE+ KB 187 8 1
Hw HiE LI FIFE+KER 2,010 90 26
AN (S E) =l =l FIFE+KER 496 110 9
ESTETCEED) =l =] FIFE+KER 607 30 7
e BREE)I| BREEI| REARE + KER 40,200 5,100 6,296
K1 Sk K REARE + KER 7,100 1,200 685
A0 gl 0 HEARIE + KEB 2,650 250 81
aiT el J\HII HEARIE + KEB 1,200 70 14
LiEH L LEEEN HEARIE + KEB 467 27 0
BRAR BRI BRI HEARIE + KEB 2,290 210 17
sl AR ol AP B+ REFEL 27,500 2,700 2,038
2R EE) =] KB T REEL 4,100 370 213
KX EE) KX AP EXREER 3,520 400 187
E[A11] Es 3e)il KB+ RESEER 41,000 3,000 2578
RIK G Bl KB+ RESEER 2,580 330 105
&I Rl =Rl KB+ RESEER 1,500 120 110
TA =R BwFII AR EXREER 1,640 120 35
CED AEI AR AR EXREER 331 35 16
(e AEI FREI AR EXREER 7,270 1,080 300
wnF s Al il FEE IR+ BiEi 5774 910 1,132
B NI I HIGE 8+ EEE 33,900 1,970 9,551
WE NI NI BEE IR+ BiEi 45,202 6,189 9,205
i Kl FE ] HIGE 8+ EEE 21,300 1,800 4,141
sl Kzl AREI FEE IR+ BiEi 38,000 1,300 2,349
P=F Kl E=E Al HIGE 8+ EEE 57,000 7,000 9,359
T —v#Ell =8I FEE IR+ BiEi 10,000 534 1,628
=2 —VEl =11 HIGE 8+ EEE 2,250 600 329
BaE g BRI HIGE S+ EEE 6,000 1,360 1,381
LE HEN L FEE IR+ BiEi 6,400 1,050 1,039
(] Kzl =N FEE R+ BiEi 720 100 59
HE/NE Kl FE ] HIGE 8+ EEE 19,270 5,000 3,099
PEH SE)I SREI HUGE S+ BEE 2,750 400 4
1133 FzH FzHll BREETARE 2,920 460 118
PN AFI =HJI BREETARE 784 63 48
weB il Eall] BREETARE 793 75 66
BExE 2RI 2RI hEEE T KEER 2,300 200 138
FEE RA bk w1 A hEEE T KEER 66 10 3
B EREHI SMEI hEEE T KEER 7,100 200 83
25 =2 R hEEE T KEER 510 40 31
EER F Il FIII hEEE T KEER 273 23 0
(35 &R ER hEEE T KEER 575 30 9
AHE W Wil tEEENHEASH 5,040 4,480 4597
BKIR EsEedlll SRl st ER 130 130 1
A sl R8I iEmEE kXLt 9,026 — 5711
E EsEedll SR Bt BEEIEERER (B) 6,479 1,845 3,658
= EsEedll 2250l tEEENHEASH 6,250 4,850 3,164
R—/\ EsE il R—/3) HB)I T 3,800 580 48
=& Al RSOV |EEEABASH 2,900 2,300 2,095
TR EsE il Exalll iEmEE kXLt 1,370 — 700
fEa EEedll] mEI isEtER 21,518 2923 8,520
FEA T EXFIN ERERKAST 17,410 — 5,391
FiEE EsEalll 51 tEEENHEASH 4,800 2,200 712
FTNE T EEII ERERKAST 2,860 — 333
MEE— EsEalll FEAN tEEENHEASH 21,589 — 3,465
FREM EsEalll Fl FraEfintst 2,298 1,960 200
EBFimm EsEalll EBFmil MELHRIBK 10,979 158 345

KEBBIE. FHREERETORFOAEHRCE IO,



LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
FmE= E=EEal] Filll FraEMmEs 3,648 3,165 244
(5203 B EZias1l] ERlmt Rk BX 4,640 540 351
=g E=Eil BB LtETHBBX 4,373 411 232
aa T BRI EREARGASH 193,900 — 6,064
WEE R #BJ1l WA tEEENhKERASH 2,230 1,830 867
BE R T8 EREARER ST 3,410 1,100 164
BT E=Eidl] XRRII BHIHBEBER 5,705 222 181
AR EEeall AERERI At BX 4,834 581 147
#FEN EeEal] =922 V)l [Fi+Z T BX 4,935 135 121
ECS] BEFBI_ [EERII FIHF A LR EX 6,480 890 289
ES EEeall FERII JENER T 3,999 18 68
A #BJIl A B T H B X 10,330 1,270 1,456
e Xi&)l EIR TLEbIHBEER 2,132 200 13
B# E=Eidl] EUHERHII |ERHIHBEBR 4,500 367 112
EL: EEeall Bl LT HERRX 3,039 — 7
= EEeall EE LAt HBHBX 15,127 604 345
X #HE) E=o] K ZEHT - ERET 3,500 270 22
MEE— E=Eidl] AZERN imEE R 244,653 — 1,244
EBE =11 =] JdERH 2,800 170 59
MERN E=Eidl] HERII RN Lk B X 6,750 273 21
BH EEeall IREFARI_[;BEHET 34,800 1,900 429
fHE Xig) RiRJI 25H 5,780 205 44
BE Kig) BRI 25H 2918 531 37
HE E=Ealll FAF IR 5,300 1,150 203
ME RAII R—RFA])I| [{EXRHE 10,450 1,141 14
X B EEeall =579+ | EB) IR A BERES 5,600 377 0
BRI ESrAl REFI TLeAbh LB BER 9,312 722 22
15 1) BRI <7l et ER 8,340 280 0
A0 Al t§Ehn) 1l EREARMASH 493 — 440
PR R XA+ RGNS 665 — 146
LAA 1 E=Ealll AN F A [ERET 6,800 110 45
A BRI A tEEEhKERASH 820 320 326
EXS R EXT] R 9,400 3,400 1,284
=27 T+ FRLAI ESIL) 2,300 300 101
X Bl DIVHII |[EEE AR 530 375 330
= EEeall = imEE R 307 160 154
+BA EEeall ZESII SESLHBBR 878 20 7
EWN EEeall FRELRII P aait] 3,300 150 68
9F—AY AR 97—Vl _|HETHBERR 586 24 10
JBRTEE— EEeall RoROARYII [ S 3RTH 325 55 36
JBETE — E=Ealll RoRAARYII | F5RTH 334 34 16
BKDIR EEedll BRI SR 860 150 9
F0Ek A¥I BRI FHE)IITHHBERX 1,159 33 0
ESD =il I EHE 19,584 1,150 825
B SR STRJI EHRE 13,500 500 108
/NE I SR /NE I EHE 9,700 422 106
R SR ERERI EHRE 7,600 100 26
—ER SR ZERII EHRE 15,600 600 95
FNEIR XK =T} EHE 1,750 100 70
HE SR FEIRII EHRE 6,560 777 198
TRR dt I el HLERAIRILEF—H(ASH 4,050 — 1,778
Sl E[A ] Sl BB 3,751 — 368
ITES: Jt kI ERI XA 3.5 38,400 800 450
2R E[A ] 2RI RIEBRE 23,356 3,500 2,746
HiRl Jt kI FrHEkI EFERER 67,476 — 84
Bh E[A ] 2a FILEBRE 5,000 350 163
I E[A ] 811 RILEBRE 1,770 170 29
KEH BRI R —_Fm-—FH 11,300 2,700 461
£BiR E[A ] #=H5 EFEEMKER 1,160 60 30
wRINS E[A ] =l EFEEMKER 2,970 350 149
HHE BT ZK BRI Fell 1 BT 1,660 153 105
BE et NN MUBNIRE TS RX 1,500 130 25
BETE ZEII =l &EHKER 114 — 42
BETE2 ZEII =l &EHKER 212 — 102
BETE3 ZEII =l &EHKER 264 — 120
BDIR et BORI MUBNRET B RX 1,210 40 6
YA [EE A0 —valll EE £ KER 10,600 900 157
BEIR E[A ] BEIR EE £ KER 13,480 480 137
E3] E[A ] =)l EE £ KER 13,715 957 1,270
EE )11 EJII FEH %A 9,350 — 5,119
R )11 EI FEH %A 6,700 — 2,331
HEAL i3 )11 BFEI MEEFERIKRIHHBER 3,568 — 25
i &L [ aall XAl -3 7,660 — 4,953
J\ATN F ol XAl -3 48,693 — 5910
FET &L FEN A 31,500 1,110 847
KE &L NESN] A 31,500 500 397
BiiR &L BRI A 6,805 54 26
K~ &I AT BB 2,075 — 128
E3E &I ES Lt R 2,650 180 50
A &I EIEN WHERER 840 122 671
EE3 R BRI FaTE BRI BB 3,803 — 658
FHRR B Z BRI dLZal AJIET 13,000 1,400 1,205
Ex R BRI FaTE BRI XA Pl -3 1,872 — 40

KEBBIE. FHREERETORFOAEHRCE IO,




LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
R FATE BRI B2 #HIRETHKRX 1,205 118 0
T BT E BRI 5&EII PRI ER T R BX 3,299 235 0
/A FAT PR W/ Al ZARm 1,266 8 7
BE (DT BRI FEABETHHEBR 906 27 46
= FATE BRI EEA AT 1,100 250 84
EmEr 1 LN BHOKE KR RR BRI 10 AR Rk R B AT 7,200 700 53
ERH FAR)I eI HRELER 195 63 50
TEE FIFR)I E=E0 BRBEAN)=Za—F T/ — 225 — 100
28 FAR)I BRI HREAY=a—TF I/ T— 2,366 — 1,961
st FIAR)I Bl FREAHY=2—TTIL/D— 8,910 487 533
El FR)I IR R Y=a2—FT LT — 7,070 32 0
PE L] BRI BRBEAN)Za—F T/ — 1,488 — 1,080
AHE FR)I BEI FRENI=2—FIIL/NT— 547 — 205
ZE FRE)I A1 R R 2 B 25,800 2,539 1,250
RE BRI BRI HARZBED 260 90 136
ENDE FRE)| REUI R AR R AR ZERT 1,100 160 49
B B2 AR HRBEH)=Z2—TTILINT— 12,692 70 131
e E FREA)I MEEI RREH)=a—FII)L/\T7— 9,922 770 236
JBHE L] FIAR) BRBEAN)Za—F T/ — 28,500 — 2,748
ER FIAR)I FH0)1 RREAJ=a—TIILINT— 14,856 195 679
F=FAEEM FIAR)I DI} REFEEHAS 50 25 22
T FIAR) A&l HEENER 1,400 — 667
bz FIAR) Bzl B PER 1,180 710 589
IR FIFRII FIAR)II BRBEAN)=a—F T — 855 — 153
138 FIAR) A&l BREA)=a—TFIILINT— 13,600 — 530
% FIFRII Fe Bl BRBEAN)=a—F T/ — 19,189 2,220 714
=EF FIARJ EREI BHERRER 689 92 82
2RE FIAR) ZRAN HEECER 117 14 45
PR FIAR) AR Edaalit] 1,600 250 614
ES3 il bl FRRERASHIBEEEEM 3,051 — 579
XiR il KiRJI FRRERASHIBEEEEMN 110 23 41
K FIFRII FL Bl HEECER 502 209 138
INATA 2 %I HRERKES 189,100 9,000 6,867
il HE)11 HR)1 ZNERERF 63,200 3,800 26,448
ES B B8 ZNERERF 2,330 113 706
B HE)11 ESEI ZNERERF 1,525 633 962
PN B42)11 SE)I BREAJ=1—FITIL/IXNT— 1,692 — 918
BHI BAE)1| =) BREA)=a—TFIILINT— 11,500 1,300 296
Al =) ] WRBRERD 2,400 1,640 2,082
A RS A BAZLEHASH 13,650 6,000 12,665
T =L EFI AABEEEHALH 7,592 — 1,802
LB =1 Bl BERah)=a—FIIL/T7— 11,470 430 274
FARE ERN Tl BEREN)=a—FI I/ — 1,546 — 0
P 1SRN SR JIIFE LR B X 216 20 6
22X B L34l BB %A 1,454 — 1,307
B ERN BRI BB %A 1,857 — 1,264
B FAI % 7)1 B 25 %7 )11 BB %A 16,525 — 6,337
Eha FEll bl FIKABESHA R 53875 — 1,990
£=x f 2 83| R 2 85 )11 REEAAEH 18,667 — 4,621
i Bl Bl FRERHE 10,600 1,400 2,079
—B BRI AN EREARMASH 18,300 6,500 2,325
EXIIE— ERN L34l REXEEXSH 42,845 — 2,342
EXINEZ BRI 23X EREARMASH 60,000 — 4,420
JIIFE BRI LRI JNFELHBEER 1,215 21 34
hyh 1SRN el EREAREGAH 13,500 113 0
Bl FTEE I Fa 2 87 )11 REEAAEH 13,748 — 0
= AR ERK BRI Ei HAXRESEGRRSH 970 — 0
3 BRI I HREH)=2—FITILR7— 630 48 278
EE&EF EEN NI JFEL B BX 193 12 13
[OE Fell bl HLBEAMASH 1,865 — 303
DRl |5 DAl BREH)Z2—FTILRT— 104 6 66
WER i NI RS R T=1 171 14 1
=R Sizlll =l BREAHV=2—TIIL/T— 76,200 37,400 24,154
=IE EiR (20} BREAHV=2—TIIL/T— 123,000 43,000 14,937
EF EiR #)1 EHECES 3,451 844 883
[ EiR [2al] BREAHV=2—TIIL/T— 10,700 1,208 694
t& EiR =l BREAHV=2—TIIL/D— 32,500 5,400 1,218
KB i (2] BREAHV=2—TIIL/T— 15,100 3,390 611
KA EiR Bl BREAHV=2—TIIL/T— 4,248 — 0
F EiR Bl BREAHV=2—TIIL/T— 3,033 — 0
N[ EiR [0 BREH)Z2—TFTILRT— 2,546 — 0
E2 EiR Bl BREAHV=2—TIIL/T— 3,110 — 132
BE EiR Bl BREAHV=2—TIIL/T— 2,755 — 0
F A /NIl BREAHV=2—TIIL/T— 58 — 57
iR | BREAHV=2—TIIL/T— 220 — 204
D eI EHECES 330 40 35
LB LB BREAHV=2—TIIL/T— 19,418 440 283
INEE 28 I EAELBASH 2,122 1,878 2,056
ME NI FE EAEABASH 1,113 131 937
INR ) El EAELBASH 11,741 2,195 7,817
=] I EI EAELBASH 33,850 19,139 17,180
H— 581 &)1 EEEAHRASHT 11,346 2,703 7,502
HLFE 28 25 EAEABASH 9,010 7,304 4873

KEBBIE. FHREERETORFOAEHRCE IO,



LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)

fi - w81 #aE)l tEEAMASH 11,265 2,121 5,157
& EJII EJI BIFEE N 37,957 7,445 11,236
28 281 L BAEABASH 199,285 24,969 26,057
IN=NI] ERESF) =T LEEH %S 2,780 1,222 506
#hIE HEREF) IN=T]] tEEIMARH 8,907 28 152
Hig HEREF) A LEEH %A 223,000 4,100 2,061
Eod INEER)I FHR) E IR 2 HIKESD 8,800 700 155
RE EJI I BFEE N 1,465 152 0
= )1 i) 1] LEEH %A 1,231 237 0
MR HREF) IN=I] tEEAMAEH 920 236 340
HiL HEEF) <2 VETII EEEHKXSH 26 - 7
Fepithl HEREF) A tEEAMAEH 171 63 123
Fl A&l FAJI EWLERES 111 18 70
INE Al FHH) EWLERES 300 20 123
=i Al [IT::0]] EWLERES 524 150 407
EI&O FEJII I BAELHASH 626 67 0
FR EI FEN BAELBASH 308 35 138
AE INEERII INEERIN EWLERES 352 13 127
A% 281 S8 BAELHASH 682 370 636
X 28 EY A tEEAMAEH 770 515 384
DAL INRERI INEERIN = IS EMKERR 31,400 2,600 2,151
=L INEERII TR = IS EMKERR 6,950 880 302
A FEJI I BFEE N 9,709 3,639 4,021
FRIIE= FEUI EERII tEEAMRAEH 4,430 700 1,135
FRIE= FEUI FEUI LEEH %A 2,120 200 206
PEERK FEUJI HERI tEEAMRAEH 12 — 5
EO%E—mK FEUJI BRI tEEAMAEH 21 — 3
SEHARK FEUJI BRI tEEAMAEH 14 — 9
K il bl FEKAFEE/RAEH 2,078 805 1,482
)] FAIE 7)1 (Rl BAEI#AH 1,437 535 937
& F 2 25 )| REII EREARMASH 27,000 — 9,012
i 2 85| (Rl RLEAMASH 22,720 — 3,588
IHR FTEE I (R EEA%AEH 12,370 — 3,097
+H P EF)II AR EhX et 20,500 — 5,120
=T FAIE 7)1 AR LB 20,500 — 4,112
EX3 FAI 5 7)1 AR BB 25,769 — 9,715
S F 2 25 )| REII RLEAM%ASH 24,309 — 4,801
LLI8 FAIE 7)1 (Rl BB 7,591 — 627
REIR F 2 85 )| KiEIg)I| EREARMASH 1,825 280 386
x5 FAI 5 7)1 AR TREAREGEASH 15,800 — 4,284
=)l P ER I =1 EEE 2,325 73 59
el f 2 53 )| REI REEAAEH 16,172 — 1,460
PNE FAI % 7)1 #BiE BMKES 27,321 1,370 983
A¥E f 2 53 )| AR EREARMASH 494,000 — 0
AR FAI % 7)1 AR B REGXS 4,500 285 467
NG f 2 53 )| INEFI| EREARMASH 18,500 — 247
3 FAI % 7)1 EE#N EEE 845 18 30
KFER f 2 83| KER HELETR 720 88 6
KFEEB FAI % 7)1 A £tttk 2,115 — 159
EBSES f 2 83 )| I Stk 970 — 281
FEI FTEE I =)l EER 10,320 1,020 183
BHAR f 2 53 )| AR EREARMASH 601,000 — 33,873
(513 ERN I HREH)=2—TFITILR7— 27,050 — 31
S @)1 mE JLEEHX R 4,270 2278 2,889
TR @)1 =1 BEEHHA L4 4524 569 1,836
e EEJII FEJI ol BaLy ¥ 33,539 22,130 10,302
BER EJI I BEEHBA L4 22,274 13,138 4,285
RE 581 =1 BAEEHHA L4 1,839 37 541
rESH I KEN EREARER S 765 56 92
pN=111] ENI xali EREARER S 14,200 3,339 2,065
HER EN El ERAREMA R 365,780 6,700 9,177
ThE &l NI BB AR SH 123,037 22,713 6,689
Alll &l =1 EAEEAHASH 879 134 207
PN &l Pyl ELUERBREEKRASH - — 109
EHA &l =R EEA%RSH 331 131 71
FE Xz X&) PEE AKX 42,425 — 36,575
RE E EAl TEE AKX LH 10,761 — 8,172
[Iis] KE BN BB AR SH 3,484 1,381 2,151
e AE AE BB AR SH 4,358 1,305 2,355

E ARSI EEN BB AR SH 4,367 2,326 2,360
wh AE EEN BB AR 1,288 244 763
EiE E =g EHECES 2,310 780 1,377
BE A2 E&I MILITBUEAKE BHEE 75,000 7,000 9,594
=i AE ESEAIN BFEE AL 65,065 — 589
F=r - X&) EB8) PHELAKRASH 305 — 191
ESEAIN ARSI EEN BB AR SH 589 114 304
30 AE FEII BB AR SH 803 598 562
AH* AE ARSI EAE A 29,400 12,381 21,933
AR AEN HEI PEE KA 4,631 3,629 2,908
EE AE ARSI EAE A 3,872 424 2,077
fila AE #HEI PEE KA 4,490 3,268 2,991
TR AE FREEI PEE KA 2,936 2,252 1,142
HEH AE FREEI PEE KA S 1,065 515 535
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LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
%8B KB RS BEEEA AR 14,121 5,030 3,827
JIa A FREE) PEHENKLSH 14,492 13,343 2,715
EiRE2 AEN FeBE)| FHREAKEASH 11,927 6,141 1,445
ARE KB FREE)I PEHENBASH 1,247 852 176
=] A FREE) FHEAKEASH 25513 3,000 2,746
BHEIIE— A B PEHEAKEASH 9,736 3,293 703
T AE) o)l PEHENKLSH 17,584 608 1,437
EARE AE) FREE)I PEHENBASH 43,568 9,555 2,315
LtXE A BEERRII PEHEAKEASH 12,062 960 240
JIE A FriFEAI FEHEAKEASH 15,646 200 437
L e X I ITBUE AKE RS 2,260 41 25
[N KB alg)l I ITBUE A KE R 3,313 — 39
B KB RS EEEAHARE 9,392 2411 0
SE KB AE) EEEAHAR 9,470 2,631 0
Fito] AE) B hREAKASH 97 97 83
[Slit AE) =Esl PREAKRASH 39 39 39
HWE B A AETUBASA 215 — 91
FEE pall el PEHENBASH 4,950 — 4813
pND pdll el PEHENBASH 1,519 — 1,350
5 pial] NAREEI PEHEAKEASH 1,173 — 761
R K EE) PHEAKEASH 6,340 — 4,037
X KFI pNall hREAKASH 3,150 — 1,659
E Pl X&) TEREARER ST 34,703 12,377 11,878
IR — AF Pl PIHENBASH 107,400 — 52,048
EARE X&) XEI EREARMASH 326,848 66,213 140,158
HEE— A K# TEHEAKASH 11,400 — 4,339
*A Pl FAERI hRELKASH 3,090 2,960 1,976
FHIl A R TEHEAKASH 150,000 — 47,891
KE X&) IKEI EREARMASH 29,981 2,500 10,594
RRBA Pl EAl TREAREKA 14,578 — 1,809
R A R TEHEAKASH 788 — 242
ppdlll KFHII ppdlll TEHEAKASH 987 — 835
#WRINE= AF iR hRELKASH 32 — 0
BE AR RN PIHENBASH 2,876 — 1,060
PN 2)1 FE I TBUEAKEREE 1,096 436 375
REEZ EAEN RN hRELKASH 4,354 — 475
EXE] EAEN Z/)l PEENBASH 11,088 — 512
=K AR =K hRELKRASH 1,051 — 0
EREin Exdll] =] BB B HOKES 19,363 902 353
& 21 &) R TEBGE AKE RRE 29,110 690 441
pN=] 2)1 KB B3 TBUE AKE R 12,300 1,000 594
hniEZE #hEE)I HELLI BT ITBUE A K E RS 3,047 45 59
B =1 TEA PEHENBEASH 71 31 42
=S =l =1 TEHEAKASH 13,100 5315 5222
0 hEEE 0 LEEH %A 1,526 1,310 1,414
[N hEEE) SEE I EEEA%ASH 4,100 1,400 813
B hEEE) AEEE)I EREARMASH 9,735 209 223
Es 0= NEEEI aEaIIl EREAREA ST 917 477 856
I NEEE) agall EREARMASH 900 244 592
INE NEEE) FEa ] EEA%ASH 122 80 110
X I REI AEpETHEBER 4,500 900 917
LS| B FEMII B, WA, ST, ER, FM 8,500 1,220 1,046
KIRSF Bl ZH)1 HEE 22,741 757 2,024
BE ]l EEA BHNFKERE Enme 4,790 190 61
FE BRI HEII BFEE LR LA 5,119 1,404 759
EEL I EZ BFEE LR LA 7,227 — 467
BRI YA BRI BFEE LR LA 958 557 645
2RBXK Al 22BK)  |EABEEHHAEH 19,435 418 720
pIIE: Nl BEI BEHKELSLEERE 9,280 1,130 470
&t N1l WE)I BEHKELSIEERE 18,860 1,060 618
Be Il Nl BBl BEHKELSIEERE 8,676 296 241
HEE N1l HHEEI BEHKELSLEERE 13,500 172 133
NG Nl NN EEREMKER 742 108 14
EXN BRI BRI EEEA B 248 — 117
fmm o )il gEmlil BLIRETHBBX 1,070 96 37
;8 HE R HEE B 1,113 — 940
hE FwE sl EAELHASH 1,137 — 653
Z3% FwE REEF I EREAREAST 39,081 7,103 14,960
RE Hm=EI BEEFII ERARKASH 113,893 7,588 23,027
Kl £l o)l BEHKELSIEERE 27,750 1,050 2,908
] = JENT] EAELHASH 15,469 — 1,033
A = EXON] EREAREAST 71,358 1,747 0
R HE E[ATHI] EREARMASH 323,635 32,111 0
ERE 2ol ERE BMKELISERE 25,650 1,050 898
BE = BEB BN 14,786 — 407
—DOX 2ol =] REEHERKFIEEEERES 1,570 170 80
EE] FwE I EREARKEAST 175 86 170
Al I Al =R 797 104 70
=3 SEN B KA SRR (2 R, K. W, Fheh) 5,600 480 54
[I=:] o)l FHREI WA LT HBER 3,400 30 2
t& FwE E[ATT] ERERKAST 61,104 2,903 3,404
N F=E E[ATHI] ERERKEAST 10,908 983 1,318
il = BEI =58 1,296 5 0
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LEOF LERKRICONT(HH2EEREFR )

B L% KER % wmEg RETKEE WA= RS

(Fm3) (Fm3) (Fm3)
ER P Al ARAFEREEHKES 9,340 1,322 301
i K N EBRESEBRIEHEMN 1,375 133 233
R BE ) RE ) PEEABASH 7,940 1,149 290
EROES FHRI HFXI EMERXR 612 298 296
=& FHI B3] FEEAKASH 178 — 109
= BEI &) PEEAKRASH 495 — 306
THE HEJI REEH STRFET. KF . KET, HEHET 3,860 420 107
=k LR EF SRETERS 3,438 2,300 2,193
(R EE) Ba )1 PEEAKRASH 1,085 — 340
ER I I PEEAKRASH 11,200 — 639
B EE) Bl WIh ETKES 1,421 93 61
IR LR E BHERTHRBER 790 120 32
FA EF) =& WIh ETKES 387 8 35
kS LR #E FEEAKASH 23,470 — 1,825
BRI =ES] BRI FEEAKASH 127,500 10,600 5,942
28 ISEd]] BRI PEEAKRASH 1,280 — 0
BR =il il PEEABASH 1,853 — 215
tE ENT] fige I HRET 1,140 100 22
HIER =BT BRI FEEAKASH 7,620 220 225
TH HBJ1 TR PEEABASH 7,680 37 0
[aqn] HBJI B PEEAKRASH 951 — 92
EiR B2 BRI Edhd 1,039 40 182
EMHM =BT L= HEH 1,234 182 30
2X EZH ERII [ 6,000 425 695
28 EZH 1A EET., BREr 4,400 600 387
ERE EZHI FEREN SEETET 1,853 150 145
AR I E&II BELHBZBERX 2,003 13 6
INERERIIN =B IMRERI SRNAKLIHEER 15,625 426 723
Xix =B IMRERI R 3,505 792 207
iE AHI AR FEEAKASH 17,200 380 2,104
=1 Ell EHIl LEEEMKER 12,697 391 1,145
wmRII =2 FmRII PEELKRASH 14,278 2,086 1,557
B/ INE nel FEEAKASH 10,424 106 828
EES I Y fH 2T 1,308 122 55
EFE] AHI I FEEAKASH 31,100 799 1,100
o] I R PEELKRASH 39,658 995 1,268
R ABJI X PEEHAKLASH 20,600 228 349
g/l INER)I NI PEEHAKLASH 1,790 — 21
R AHI BRI FTEEAKASH 5,658 35 126
B % ABJI ARl PEELKRASH 6,145 18 0
g2 AHI AR P EEAKAXLH 455 66 201
=& SE HA mEE OB LN 299 90 0
£tE EHHII HA mEE OB LN 1,367 500 965
INEL AE BEN mEE BN 16,750 6,937 9,935
AES ) RERN MEEAHA S 451 130 130
HE2H EHHII szl mEEOHALH 94 10 14
=] A BEN EEERLER 6,463 1,050 1,551
WEJI SEI mEI HEELABASH 14,300 4,379 950
Gk =i 2R)I ERENECEETER 28,300 1,500 465
[ =i ET MEE S 270 227 100
EAE= =i =Nl MEE B 6,218 1,298 2,295
BIF HEI FRLLI FEREREAMASH 5,628 122 502
S EXE &I BWKES 1,110 90 17
ERRE M EXE wa) BWKES 502 48 33
¥ EXE el FFEEIRET LR BX 780 10 4
=5 wERI WERI BHEAERCER 2,600 1,226 702
[PIE BN BRI mEE OB LN 1,454 500 698
B BN BRI mEEOHALH 19,300 6,709 5,109
PN SEI S mEEAHASH 24,030 5,204 5215
EiR SHEI S mEE OB LN 31,900 9,323 5316
®E =i =) MEEHHASH 1,837 500 0
Il SHEI Il mEEAHASH 19,120 4,259 1,125
A EH A MEE A HASH 46,260 6,136 563
D) =l il mEELHASH 5,800 94 0
2 H wEI EsI BHEAECES 11,500 1,158 1,385
P =8I E At ETFKER 7,349 443 102
Rl g INEEI BT FTBGE A K E RS 25,300 1,300 790
=EES Bl FrREI BT FTBUEAKE RS 4,000 100 26
i g [N 12 R B MK E B 7,660 960 527
AR Fgl AR Sifim 1,196 94 69
A1} =8 =# EELHBIBER 22,250 250 574
AR HE) BEAJ MBS 84 — 68
®E A =rEll HEFES L BER 645 49 49
Xr#E A BRI ZATH 532 28 25
I A ESTII] MBS 3,270 23 153
Ya-1 EXEEI Ml RO R BR 2,200 55 70
faig & & ERAELES 2,495 413 416
A KEII KEI kIR T BB X 2,021 521 365
=% BREE)I| BREE)I| ERECES 326 56 15
BER BREEI| BREEI| EREARERA S 9,930 769 650
RS BREEI| AR AMBE AR EH 5,383 73 0
FiEN BREEI| BRI AMBE AR EH 5,420 691 721
&’ Fig Hig AMEB AR EH 4,050 200 23
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LEOF LERKRICONT(HH2EEREFR )

B L% KR % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
higk /R Fik)l thige R )1 AMEBH%EX S 1,858 — 483
el Fik)l =l MBS 273 2 110
EIR K53 Kol AMBEH%EX S 1,663 — 694
a5 K& ZEBII FEITHBBX 2,190 36 15
B F /R PNl +E)I AHR LB B X 3,276 46 34
SRR Enpg 1] il BRESERS 2,430 1,512 641
Bl IR AL MBS 1,273 100 826
JIR AL MR MBS 3,220 390 1,431
AN INFLI NI MBS 6,768 380 0
P Q] NI KBRS | MEHEK S 6,299 60 0
KiE)IE— Kigll KiEll MBS 8,500 2,139 2,351
= i) Kigll Kigl MBS 12,464 2,340 2976
HEIRE Kigll e ERECER 1,381 386 635
&R Kigll Hzal ECn 5,100 1,300 659
R Kigll I ECn 6,700 500 515
AZIIA Kigll K2R ARy 6,270 260 144
R AL SIE N Estih® BRIl Lihs K 2,040 140 22
211 Enpg 1] s BT 1,920 1,023 1,367
B/ Kigll E=E Al AT B BX 10,300 2,800 676
P& Kigll Kigl SR, EmEh 4,310 60 28
#BIA Kigll TN S 2,170 250 26
JIRNIEZ JIRJI JIAI EREARGRSH 2,725 340 265
Bl 1AJII el BEREE)IINTT 1,000 145 95
=1 R FRII THRIMBBER 13,930 2,300 3,850
ik | R Sl FETHLihRER 2,580 400 36
BRI XiE) BEHI TLeAbh LB BER 2,405 219 90
R Kig)I A30<)I| TLErbhIHBRER 2,752 183 3
TigHA AR AN PRI IRANAR L B K 1,000 297 6
grE E=Ealll EOD)I ARt BR 275 0 0
FEH EEeall FEAJI EHLTHBEER 410 36 2
=+ E=Ealll = DRI tELHBEER 224 4 1
BAR EEeall BARII R HEER 836 5 12
BiR A¥I BRI BHE TR B X 600 — 13
EXEAEE E=Ealll w1 RN BX 548 17 2
STFAI AR SIFHBIIN IR LB ER 981 — 56
FDIR KB 1/3/=7y7)Il |TLshbihBER 948 32 5
JeiR KB Ao IoRVI[TLERADL IR BER 824 11 3
g ji] Kig)I i npl] TLEbhIHHER 1,162 76 2
By X&) DRI TLeMbh I BER 1,316 156 6
[ES =11 Fryh vl (SR 401 16 2
=ZDRE— AR EX=0R [tEtRER@GFERRIHK) 710 235 1
ZDRE=- AR EX=0R) [tEtRER@GFERRIHK) 324 60 1
—DiR A¥I LR—DiR)I [ttt BER (EERLHR) 168 28 6
7l Ldalll FII biEEEhEX R 1,430 409 1,174
aiEK )il Al biEEEhEX R 1,814 567 1,193
BN BRI BRI LiEEEhEX R 29,800 12,950 6,512
B )il il biEEEhEX R 6,665 1,076 975
R E= R )1 [zl FRAETHARH 15,380 2,567 1,569
THE HE E Al EEEEhKASH 6,550 1,885 875
171 [EE [EE I LEERES 9,974 1,387 972
= Fih1 Bl deim 3,620 1,020 505
HOR BRI ahovaveso [ EEE AKX EH 9,560 5,887 801
FR EF =531 A00v i BER 3,300 140 120
PR B% PRI TR PR ET 4,300 540 236
RN BRI 2RI tEEENhKEASH 1,620 52 161
=5 ==l ==l FOHET 8,170 450 472
i )l il isEE XL 145,000 9,786 2,839
EE EE EE EEMI#HHER 10,080 557 470
il R B =Ryl KT 6,500 500 185
Hntd ZE XRFEN il 4,300 400 0
KF KEII B RgIRII de s 1,600 200 78
B [EiRERI B |2 iR ARET 10,000 750 330
BN BRI BRI tEEENHEASH 758 — 379
i il Mg Mg 500 100 74
EE il Mgl TR 2,400 1,300 53
0 aFHAI =E5I ERIET LR B R 7,400 1,700 569
NER INERAIII REAI #Em 4,300 300 45
R BRI AVH LI T AT 3,300 600 7
{EH =l {EERII EHEEMOKER 1,282 165 147
] ISk =l EHEEMOKER 3,055 360 331
—/B8 ENSI aFII EHEEMOKER 2,810 420 167
AR EHN A mEE EHEEMOKER 2,922 852 176
NP = I ERES 1,791 240 112
= HE XA R TEBGE AKE R 10,000 200 186
HE T +xX=F1 R TEBGE AKE R 2,300 40 27
B IR EBJII FEELER 3,930 124 121
2% INRII S FEECER 4,827 227 686
AR E1 Bl BENERER 3,927 — 17
BiR ER =l AT 1,050 180 227
=t 2:8)11 =] ELERES 242 9 238
vl A5E) || Pl =R EMKES 1,636 236 40
BRE— BRI RERI FRECES 2,850 1,070 1,682
=HE =@l =R FRECES 11,740 5,400 2,821
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LEOF LERKRICONT(HH2EEREFR )

B L% KR % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
D=1 BRI BiR) f 5 1 3,730 180 175
BB BRI BRI Elonn 1,575 275 58
Exi E AT EF)I FREATHEER 1,409 0 13
EF1H a8 JanzUll EffERL R ER 1,656 7 0
RN E— [l [Tl FRELER 923 242 718
X £31)l #F) FRELER 86 31 49
JIIR Bl Bl AT 265 — 47
Bz E A Bz EHIHBEBER 744 26 33
oRE— E AT EC oAl FRATHERX 1,220 170 26
hNE EFF)I Nl EiET 4,450 250 94
X #a)l ®BH) I T iR B X 1,150 50 0
IR BRI I f 5 1 2,470 170 52
At Pkl P EEmH 2,600 350 14
hEFHA Eall] Al RIS - #h 2R B X 1,687 87 0
EZi) HEHI RERI)I tEm 1,334 131 22
EX A& H#TJ £k 3,188 387 78
P =t PNl BEEEEEER 2,220 170 204
K K I SHH 621 10 5
REAN AR REAN FRhE R AR E R AR 1,252 45 91
A #REAJI A FRRE R AR R AR 12,020 1,680 424
JF AR SF)I xaJl EREARGASH 2,141 823 656
RiR Zigll RiRll ZEEEMKERR 10,500 660 1,320
TR BEER I BEERIII HETH 3,007 150 46
E =3 FI B3 FTBGE A K E RS 1,650 32 33
b B eI REN-BFAN [T TBCEAKE RS 16,400 180 160
=) EGEEN HOJI B3 ITBUE AKE RERE 854 54 18
AEN A A EEEEBUREER 1,720 110 9
£ il il BFEE R R 33,387 112 0
B8 )il KRR BFmEE N R 9,604 499 72
AH il AR BFmEE R R 10,147 61 0
AL ES=NT . runlll BFmEE N R 544 — 333
F 3 HE ERE] A 11,717 105 825
Al RE)I AR wEM 2442 390 349
g izl A A 1,350 35 120
B il A EERRET 16,600 500 2
[T IR M IR ERLIEKE R EF 800 15 17
BhE )1 MA BEE)I B8R T EX 1,800 196 5
Bl EE I BAAELHASH 25,446 — 5,881
IR LRI =R HEN 1,210 120 9
BRI E =B ] K BHET 1,414 124 61
[EEN =B E& et 2,190 127 96
B =il #EBII FN AT 1,239 141 20
$22H SES Z/)I K HET 1,360 150 121
BE EH KEN wEIlH 870 60 56
AL =8I A HEERT, =Fh 499 67 7
AaE HEJI famEll HEthXR TR BEXES 2,010 36 25
8Ll B BEE)I FAtE TR ERES 720 200 24
Nz Pl 2RI FEGE TSR ERKES 2,000 50 7
AEE =& =N SHRENER 2526 968 800
Al Al A PEELKRASH 10,173 — 1,374
ER Al A PEELKRASH 359 — 175
258 Tl FEsalll L 1,334 200 10
=Xk EX A ZH)-=x)I B EFKEREEEE 2,650 250 231
BERF BRI AP BHIpETHEER 1,016 43 38
= AR REJI =ZRh 1,660 80 20
fER I BT 211 fER I PEELKRASH 20,100 — 1,244
HEDE A2 AEN WOBRERS 2,930 300 235
miE &)1l g2l OB+ REEE 7,031 168 434
TKits gl g1l WOBRER 796 128 76
E300 E31 Bkl WOBRER 1,890 30 4
FEALL B ZEEm I WOBRER 4,500 60 203
£E [ £Z)| PEELKRASH 346 — 120
BREFII AREII I AT 1,614 98 37
RI=] AR [ITE 101 TRTHBBEX 1,260 137 33
SRR KR KR ™ 4,520 127 661
P B Bhik I EMH 531 32 12
A sl I HFHH 1,160 21 3
¥ EEI R £EH 1,600 800 284
[ilia &Nl Il FNEEEKERER 8,500 500 603
i =EFI FFI EREAREAST 4,210 1,645 2,406
AKX =EFI EFI EREAREAST 2,469 700 629
BRHE =EFI R RGBS 107,870 4,300 10,520
x&E I ESAalll fEN R BT 1,661 321 210
BRESF BREEI| SeH)I HSEYH 3,302 344 735
%R A EA] e B MOKERD 3,754 24 41
L &=l BB UALH | BT R MKES 1,580 150 39
iR I EEI T EMKERR 1,460 10 20
& HE R HEEHE) |EEHEMKER 804 11 13
B’/ Al FHi#l TR MKERR 3518 390 90
HARG FHJI FHHJI ERI#HHER 1,172 74 33
J\H J\EJII J\EJI MBS 141 48 19
kS AB3E)I R ERH 1,720 110 148
Fi=:] FEEN NI ERH 1,468 — 158
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B L% KR % wmEg RETKEE WA= RS
(Fm3) (Fm3) (Fm3)
TOR IR [SEI EHRT 2,300 118 14
e P EXi MEMTHERX 1,135 85 16
EIN EN]] S]] EI#F 2,098 131 50
Z8 E3#E)1 EIFF1 EI#F 1,800 103 103
AHE EREE)I EEEI EREEI L BRES 8,000 550 515
Bis ERERJI Z/E EREEJI Tk B XES 4,800 70 41
RE ERERJI ER FEH 1,650 400 202
EFF EREE)I &R EREE)I TR B RES 2,200 180 23
EEF L)l Bl MBS 8,309 320 5,799
IZAR i=9]] =] MBS 4,194 812 2,423
FHIx =1 HIE MBS 3,484 981 1,135
] =1 i=H]1] MBS 2,452 640 712
[ —VEl —viEll AMEBEH%EX S 8,765 725 2,743
LHEE HI HII MBS 91,550 7,278 13,996
FIR =1 =1 MBS 34,326 7,700 7,400
KAR HII HII MBS 7,488 529 1,942
—via —VEl —viEll MBS 261,315 19,192 21,567
EIN —v#El =Bt BRESERS 716 74 242
EDT Bl il MBS 141 — 134
EiL ZEII il EBASEIHASH 2,265 80 571
= Bl A Fa A AR T 1,200 74 52
BARE AEI HREAI WHEEKREH 1,660 160 84
HF 3 BEHII EF N ik 1,180 40 22
il HBENI FE/KII +EFELHRER 2,207 190 85
XKE K& —E&l BEm 1,174 178 27
K K K EEH 2,320 140 31
S N AR WHEEKREFH 2,103 173 106
I KZE = HKFEHLHHBER 8,500 376 524
RN G R MBS 522 213 441
BEH SEH/ =R HikH 800 50 35
(=10 F=E FEI i SET 117 2 2
i X XA v SET 808 61 13
D 225U 227 FLET 155 1 0
AR il E#E) FLET 153 23 7
i FRFI 211 Z5H FIkET 374 36 61
£ig FZHE &I FIERT LB B X 2,570 280 69
#Edt B3] ABII ESREHLiEER 8,200 1,850 683
(A=) )| RG] EZERKIHEBRR 8,120 820 237
ER =R ERI hERIR B MOKERD 13,000 150 118
2B A0 x5l SREBIR B2 AOKEEED 3,970 150 70
BEER BEEEX) |BEEEX)I |HBEEMKELR 1,470 210 59
R LI LI LiEEE LR 790 290 521
Il BRE )11 Il KEHKEED 1,970 10 0
FEl] FUFRII Fel] HREH)=2—TFITILR7— 92 — 0
Fa 18 KRNI EEN HERE S 2213 — 1,046
=A EAEN EAEN HERE LM 972 — 700
ER el R EEERET 11,120 120 283
T gl gl EERMET 9,400 — 117
HA I (=301 KE RS, BrEEHH 2,500 2,500 1,523
—i& 238 EX A PEEAKASH 1,295 96 452
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